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B.Com. DEGREE EXAMINATION NOVEMBIER 2017, // e :
Ifirat Semonter (| " ,/ p ,
ENGLISH BASIC i\ N 7
(Revised - Now Syllabus) b
Time : Three hours Maximum : B0 marks

Text: Life and Learning
1. Answer the following questions in a word, n phrase or a sentence ench
(10~ 1 =10)

(&)  Who is the author of the essay ‘No Man is an Tsland”?

(b)  When did the narrator of the story ‘Eyes are not Here' learn that his
co-passenger was blind?

(c) What is the name of Kabuliwallah?

(d) What was Mini's false fear?

() Name any two punishments given to the Culprits at school in Kenya.,

() Name the writer of the poem ‘Sonnet 130,

(g) What season reminds Robert Frost of mending the wall?

(h) Who is the poet of ‘Dover Beach™

(i) Why is Miss. Pushpa going abroad?

() What is the context of the poem ‘Goodbye Party’ for Miss. Pushpa T.S?

. 2.  Explain with reference to the context any TWO of the following, choosing one
from Prose and one from Poetry : (2 x5 =10)
(@) Each nation, it has been said, gets the kind of government it deserves,

(b) I was unable to tell what the girl looked like; but I knew she wore slippers
from the way they slapped against her heals.

(c) And yet, by heaven, I think my love as rare

As any she belied with false compare.

(d) And we are here as on a darkling plain
Swept with confused alarms of struggle and flight,

Where ignorant armies clash by night.
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Discuss a world federation as an alternative to existing governments, based
on what Minoo Misani says. (1 x 10 =10)

Or

The author shows how a child’s life is related to his or her own background,
culture and environment. Explain this through your reading of the essay
from Decolonising the Mind’.

The poem ‘Mending Wall’ has a philosophy of brotherhood and tolerance.

Justify. (Ix10=10) -
Or

Discuss Nissim Ezekiel’s use of irony in ‘Goodbye Party for Miss. Pushpa

T.S.. .

Fill in the blanks with appropriate articles : (5 x1=75)

(i) There was army of monkeys near the temple of
Hanuman.

(i) Thisis unique method of studying Accountancy.

(iii) rich are not always happy.

(iv) I think him to be ordinary fellow.

(v) sun shines by day.

Fill in the blanks with appropriate prepositions : (Sx1=9)

(i) | He is greatly devoted me.

(iij He sat

the shade of a tree.

(iiij She disposed all her furniture.

(iv) Icannot agree you in this matter.

(v) Deepali arrived

the station just in time.

Fill in the blanks with the correct form of the verb given in the brackets :

(i)
(1)
(i)

(iv)

When I first

(10 x 1 = 10)

Do you always

(meet) him, he was studying.
(dream) at night?

I

Will you

(to be) happy to see you in our midst at this time.

(have) lunch with me on Monday?
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“ (v) Clive

(found) the British Empire in India.
(v Rama

(expect) me to return tomorrow.
(vii) At which time

(do) he go out for a walk.
(viii) My brother and I

(to be) here to welcome you.
(ix) Each of the offenders

(have) to be punished.
(x) The number of boys whom he counted

(to be) actually forty-
nine. ]

Each of the following sentences is divided into three parts (a, b and c) one of
which contains an error. Select the error and mark the part as the answer :

(10 x 1 = 10)
()  The police were (a) / on the alert (b) / to see that nothing goes wrong. (c)
(1)

The fireman could not (a) / succeed in rescuing the (b) / child although
they could put out the fire. ()

(i) The public (a) / are deadly against (b) / the imposition of any punitive
tax. (c)

The manager of this bank (a) / is a close friend (b) / of me. (c)

The policeman started (a) / firing the crowd (b) / when the striking workers
got violent. (c)

Children often (a) / quarrel on (b) / petty issues.(c)

Elections to the American (a) / president take place (b) / every fourth year
in November. (c)

Guru Ram Das was (a) / the fourth Guru of the Sikhs (b) / between 1674 to
1681. ()

The two brothers have never been (a) / on good terms (b) / to each other.(c)

Alexander was (a) / the first European invasion (b) / to set foot on the
Indian soil. (c)

Write synonyms for the following words :

(5x1=5)
(i)  Absolute

(i) Confess ’
(iii) Dynamic
(iv) Gentle

(V) Infinite

—
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, . (5 x 1‘= 5)
(b) Give antonyms of the following words : .
(i) Sharp
(i) Host
(iii) Ignorance
(iv) Lend
(v) Sour
4
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.

v )p&g

First Semester

ENGLISH BASIC Y
(Revised - Old Syllabus - Last Chance)
Time : Three hours Maximum : 80 marks
Text : Imprints
1. Answer the following questions in a word, a phrase or a sentence each :
(10 x 1 = 10)
(2) What did the ex-compounder suggest Govind Singh?
(b) What was Arun doing when the thief met him?
(c) How much money did French Government demand for supplying a machine
and an expert?
(d) In which countries do women out number men substantially?
() In whose honour was the new species of deer named?
(ff Name the poet of the poem “Where the Mind is Without Fear”.
(g0 What is the occupation of the Speaker’s father in the poem “Tribute to
Papa’™?
(h) Who is the poet of the poem “Tonight I can write the Saddest Lines™?
() What is “Armada” in the poem “Questions from a Worker Who Reads™
() What did the Vultures pick from the swollen corpse?
2. Explain with reference to the context any TWO of the following, choosing one
from Prose and one from Poetry : (2 x 5=10)
(a) “Eat this if you like. It is a nice village.”
(b) “You look like a wrestler yourself.”
() “You have always lived a life of limited dreams.”
(d) “She loved me sometimes and I loved her too.”
3. (a) Did the government of Monacco succeed in its attempt to punish the
murderer? (1x10=10)
Or
(b) What was the impact of the registered letter in the life of Govind Singh?
5
[ — S ot s . NS T brne s e T T Ty
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‘ night ..... Lines™?
(a)  How does the poet express his anguish in the poe™ “To nig e

Or
o «@/here the Mind is
(b) Express the views of Rabindranath Tagore in his poem

Without Fear”,
Write short notes on any TWO of the following, choosing on¢ fes Pr()(sgexa?iz%(;
from Poetry :
(@ Deepak
(b) Father David
(c) Mr. Kapoor
(d) Belsen’s Camp
(a) Fill in the blanks with appropriate articles : (5> 1=35)
(i)  She presented me useful book.
(i1) Taj Mahal is a great monument.
(i) Anitais honest girl.
(iv) A hunter saw bird in a tree.
(v)  Miss Smith rang hour ago.
(b) Fill in the blanks with appropriate prepositions : (5x1=39)
(i) I shall see you ten o’clock.
(ii) The train Delhi leaves at 9 p.m.
(iii) The bus comes Nagpur.
(iv) Tell me all the accident.
(v) They killed the snake a stick.
(a) Rewﬁte as directed : (5x1=5)

(i)  She is too old to marry. (Remove “too”)

(ii) Mumbai is the largest city in India. (Change into positive degree)
(iii) If you tell the truth, I will forgive you. (Use “Unless”)

(iv) What an exciting match it wasl (Change into assertive)

(v) As soon as the doctor arrived, the hospital staff b
No......Sooner than) ecame alert. (Use
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Give synonyms of the following : (5% 1=29)
(i) Hide
(i) Fair
(ii) Wise

(iv) Devour
(v) Grief

ales Manager. Prepare

h necessary details.
(1x5=5)

BPL Company Hyderabad requires the service of a S
your resume and send it to the personnel manager wit

Expand the idea into a paragraph on any ONE of the following : (1% 5= 5)
(i) Slow and Steady wins the race

(ii) Unity in diveristy
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
First Semester
M.I.L. - KANNADA
BASIC
(Revised — New Syllabus)

Time : Three hours Maximum : 80 marks

Text : Q@ 5o FosOW X0F) epODE FF2 F05OT

R F03) WoBH BoBt =T BRBERNRIF)TO.

1L (a) =3rug Susnvd BmRtS drcsmysnva) 3008 wdowd, (15)

[Zlarar

(b) B0z @ wdabnich B BeBBY, BiEedde, 0wBR), ‘TZe/T FZ03, ¢ 323 et

I

BRITBRIE? SO,
2. SUNSHYY, cdnEe HOER, BB BomIF 13 D020 : (2 x5=10)
() =BpumEiod S Jug Hosnw
(b) 333 B3oleerabnd ARN BH3ITEID
() werier SHE SRR

(d) ©oma) dekncsad 8.00E) ABTIF)Bors

3. 3YNT adnde 0B B0 3D ed oD : (2 x5=10)
(a) BOTeRYAD T P
(b) Row BATZY
() v wed

(d) Sesried 83 BOF

4. (a) 3I3IW DFoDY TTHTIMET BBOYINTT), O HZDAD. (15)

(Zlamr)

(b) BR@ENT EleBVI DSt =oed0d ,'Jd):..:sobai% @ert 832007 DD,
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(2x5=10)

(a) 2o TF, 3BYA 03 SRBUER, 20> o) ¥T3 F0Ba.

(b) Qe FYEROBED VAT, WITtPOTD 2303 esh B3T3,

(€) woB) g3 wod, aed VUHO Ineceadeso?

(d) BmT worm s.er B.e%e, 30B0 I, 30dwn Sew eabs Bede), ATN?

BINT cIRF)Be HTBRY, 300D &3¢9 IO : (2 x 5=10)
(a) MO

(b)  Bo0. deTPB,

(c) eBRews b wog

(d) o303 B3

3UNS SZA worle HoTYTY 6udD : (1 x10=10)
(a) obBRFTT 0D 0IRTL?

(b) BOBTS Bomp o, CAPFHTO?

(c) =0803 HI[) WIBITT?

(d) ST YT Ve TooSeR?

(€) ‘RVOR RTZF - 9B IRT F37?

() SPYabhIT NS B3 BB BBY OPIB?

(8) ‘Roeds ey B srodd WIBSTaTO?

(h) BoBSPTHL3S FGad Fe0dT dPTO?

(i) BRBNS PIRY TSI Bert?

() ‘vootdme T - AW 0dwT 737
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
First Semester
M.I.L. - KANNADA
BASIC
(Revised)
(Old Syllabus - Last Chance)

Time : Three hours Maximum : 80 marks

Text : &3 sa00% S0X) UGBV TT

PR R wiEs Bodn i FRB N0

1. (a) ‘wddd zéafics BoRIT I3 uéobdabd O wToDD. (15)
P

(b) Beedes3 330w 30 IoA 2dpcT DT TR TIVBY, Bert Foed wobB? ZOD.

2. etn SOBY, 336 w000 : (2 x 10 = 20)
(a) ©sEW
(b) .8

(c) of.oef JH=,
(d) 2 20 8 Beh Dodrtod IToSO
3. (@) wg 8e3T0 FaYadnY, me0deehs 33290 Dot ‘BRI, BoBIBZ edod
WOFTHE 20w SeDVT S Bobd HT02. (15)
‘ Latr)
(b) ‘SIS W3 ST ARFNL’ SeIBYadb Torte8 BridodhaT IS =T TovaSadn),
003> w3ad.
4.  UYevow ébddia &3‘3&5 2T0D : (2 x 10 = 20)
(@) eEYS PRoD ;:,’ad.raﬁ. ogonsd
(b) ©Beg3 30F0 I nieo
() e©Beg3 m@ﬁaﬁﬁeﬁo
(d) RZRees vpme S0D3,
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woe T98BE_ Eu302D : o (io)
(a) 3Bz ﬁd:{.oamaaoobdd FPoF BRFCR?
(b) wBee ZPTESA o Gdaﬁda&}i o 33T FozOTROT uoﬁx@a’@%@aﬁd?
() oz Fodad Sows 320 CIRTL?
(d) ‘BecaEs 03 33T 33 0307
(e) 3Ivex H8oId WRY 0300 wo?
(f)  ooded B3I 0w, ZaaBob BRISexH?
(8) “ouesh 3ed umb ains e3gadnhe?
(h) 8T F3 Hordesd?
() 0 oRes3 I3, qoNcasd) sdomd 880303987

() =3 333 w0neard) sogzmon vvodh FainTY?

o oho

T e T L T Y ST W e
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.

Time : Three hours

7096-A33-ISC-R-N-17

First Semester
BUSINESS ENVIRONMENT
(Revised)

'SECTION A - (10 x 2 = 20 marks)

1. Answer any TEN of the following :

Jemr B33, 50300 :

(a) What is environment?

0308 208307

(b) What is environmental analysis?

3830 Dg =S DoBTER?

(c) What is meant by monetary policy?
BT V8 DOTTEIO?

(d) What is capitalism?
WOBTYT& ;%:moaoddcﬁ)?

(e) Give two objectives of SEBI.
SEBIab 208> evd¢3nva) 3080.

() Whatislegal environment?
FrAR) 3030 HorTed?

(g Expand the following:

81 SRRy, HFOND:
() MNC
(i) SEZ

Maximum : 80 marks

Answer all questions subject to internal choice.

Question No. 13 is compulsory (Case Study).
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(h) Who are the stakeholders in business?
;gsdaddd?_,d To3,50n¢) 035287

() Give the meaning of Culture.
.‘u’oz’,@aob eqs’rdaizt (AlefeS 810}

() State any two dangers of LPG.
LPGod o8& @mobﬁédz{g@?da.

(k) What is meant by technology?
320352 20oTdeR0?

(1) What is E-Business?
2-ZJTH0 0BTER0?

SECTION B - (3 x 5 = 15 marks)
Answer any THREE of the following :

IAlGTIA mrao‘ﬁd engaz,a :

Explain in brief any five characteristics of modern business.
BE00T FFH0E B0 OFRRIR), IZORD.

Explain the effects of demographic environment on business.

azis;imdd 30eI3 wweoNeod TOITE FDHBOITY, HSTVAD.

Bring out any five objectives of industrial policy of 1956.
19563 3medse dedab 2rd evdeBnys) IS0

Explain in brief the economic roles of government with reference to business.

300G 8BS ISR, Bog@Ten HTOR.

What are the unethical practices undertaken by business?

33500 gouyS o33 BLBEReID?

Write a note on management of technology.

Z03a@ JSZob e3¢5 wToD.

N
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SECTION C ~ (3 % 15 = 45 marks)

Question No, 13 in compulsory and any TWO of the remaining ;

8 13 dwaodomahed, eudiine) wierats dodd airidn engbio. :

What is meant by internal environmen(? What are the various factors of internal
environment that influence modern business?
30308 FOVY wowder? JEwpdn @i BOmaE) Dedys KOG 0308 B0 03nzy?

What are the economic policy reforms undertaken by New Economic Policy,

1991.
19910 Bedn uire Aedodn HEn0r Bods ehre Zgadnnvam))?

What is political environment? Explain its components and their impact on

business.

Dazdeody HOXT 20WdeRL? VWG FPLizoBrivaR)R)? B eFHnYd F@H00 Boed Dedra

JOFHo=) DZ0.

Critically evaluate arguments for and against the social responsibility of

business.
::‘%saimdd BNET w3 I Fane Hve mdﬁe)aﬁizﬁmém.

What is LPG? Explain arguments for and against LPG.
LPG 2008e30? W30 30 Harte db0eqnivsy, 5020.

Compulsory question (Case-study) :

Technology is one of the macro environmental factors that decide the destiny of
business. It helps business to increase its productivity, profitability and
performance. It also brings radical-transformation in society. Thus, introduction
of technology brings changes in the social and economic structure of the society.

In the light of this, answer the following :

(a) What are the effects of technology on the economy?
(b) What are the effects of technology on the society?

(c) What are the effects of technology on the women?
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smaod 3B (STOw 8g0dT) :

303 Ea) F@H0T dond PO, TR wow; BOICT SoBIH FpevTNG. AT dg;ﬂ'@bﬁ
3030l WP, GVRIV 203y B BZm BWEO IBOD InE3Y B3) IBREEY,
RS msroed H053ed 30038, $BDoT, ooy wYSRTOID voR3 uhrs JOAS 3032
02T 3313 e WERIE 3AIW. S bIPabd, gUns JZnIn eugdD:

(a) :s’o:gzsa?ai:’g (Zintaid :stzi;'ﬁo:&)cd Dedo3 IdmeonenRR)T?
(b) 3o FR) A3RER Soeed Dedo I0TonewR)R)?

() 3o3mII) 0&Y0T Hoeed DeddS IOHoRorneHR)?
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.

First Semester
ECONOMICS
MANAGERIAL ECONOMICS -1

(Revised)

Time : Three hours Maximum : 80 marks

Section-A should be answered continuously.
Draw diagram wherever necessary.
Clearly mention section and serial number of questions.

SECTION A - (10 x 2 = 20 marks)

I.  Answer any TEN of the following :
BYNS odpR)mente BIT, Hug02 :

1. (a) Define Managerial Economics.
VIEDT VFFBR, WA

(b) What is demand?
WBedd 2033eR0?

(c) Define elasticity of demand.
WeRE 2350573, 39,299, 0.
6 & & ¥ 3

(d) Define income-elasticity of demand.
301 2370TTF3_ 39,9 D.
® © & 8 B

(e) What is Survey Method?
AT AFT 0TTERO?

()  What do you mean by change in supply?
BRTFoD wBUIIE H0TTER?

(g8 What is Cost?
;S?.Suaoddfd)?

Scanned by CamScanner



II.

(h) Define External Economies of Scale,
ma:s Elata a):s’z:i;ai) <373, AD.

()  Give the meaning of opportunity.,
Bl ADPAT Y- ;stwd eac;ﬂ-‘ﬁdgt 5RBD,

() Whatis Explicit Cost?
33 <313, 20T3Temo?

(k) Define production function.
SRl e eabru’da’ojaaii DYVAAD.
() Find out variable cost
Total cost — Rs.500

Fixed cost — Rs.200

BN dzﬁuaom HR0LD -
zoédgdzszsu— Ss. 500
?ad msw— ow. 200

SECTIONB- (3 x5=15 marks)

Answer any THREE of the following :
FYNT odnz)de SoRdY, eugd3 :

Explain the subject matter of Management Economics.
VSFBm VPFBoRE B33 STV, IS0

Explain increase and decrease in demand.

‘WedT HOF S0 FWFOLTY D30

Describe the objectives of demand forecasting.

WeBFodd dnﬁqomda’ md@céﬁ@@&zﬁ&h

Explain the Law of supply.
28303 QODTIBTY, DBOR.

7098-A41-ISC-R-N-17
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10.

11,

12.
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Explain the concepts of Total-cost, Fixed-cost, Total-variable cost.

2830, 30, wBeRrSI Jund a’@ﬁ%ﬁfﬁ@d&&db&.

Calculate the price-elasticity of demand with the data :
WJei-wieled %Smcﬁﬁ’a’addi &508—50&%0330!3 5030 LBoDO :

P =%-4.00 Q, = 2,000 units

P,=3-8.00 Q, = 1,000 units

SECTION C - (3 x 15 = 45 marks)

Answer any THREE of the following questions Question No. 13 is compulsory :
FYNT 0eR)werddR S000%, eu3d2. 33 13 g odoTend :

L8
Explain the law of demand and state is exceptions.

BeBzodd {x’)obabﬁd.zladﬁﬁq 3> v@d OBTTRYR) 392

What is price elasticity of demand? Explain its various kinds.
23 23eBT 2370573 H0TTER? VT DG JFaORYRY, AS0A.

What is supply? Explain its various determinants.

BPRTT 20BTERO? '&daigt OPFORS DI wosries) D30,

Explain the law of variable proportions.

WEINIS SO0 NY K)cxbmﬁaigl Q302

Calculate FC, VC, AFC, AVC, AC and MC from the following data :
9N Bo3-08ne 3F0LBB FC, VC, AFC, AVC, AC 303) MCrig), &8, 5980 :

Output (in units) : 0 1 2 3 4 5
W3, (FeTrdd)
Total Cost (in Rs.) : 70 110 180 250 300 450
wkdy 33 (de.ndd) :

3
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Case Let :

28 VIR :

® )

Read the question and answer them :

qqlﬁeid%’aaa S0 F)ndrt ev3ddd :

Patanjali company registered the sale of tooth-paste during the last-five years.
J30m® T0DA &ifaa*‘a’esfuabaoau@ 93 2D 33FnYd B 3YNT033 :

Year : 2011 2012 2013 2014 2015
TRE !

Sales (in crores) : 35 40 S0 65 80
S0000t3 (BwectIngd) :

(a) What is demand forecasting?
23eBT 0T DoTTER?

(b) Estimate demand for the next S years.
S3000T 5 IIENIR FeBF wowazdd.

(c) Should company expand its capacity when the present capacity is rupees
80 crores worth sale at existing prices?
B3 Wb, 503 WIOFFD) B, 80 Teetd @) FoDIoD IFY WBFEDIY
D30xeIeE?
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B.Com. DEGREE EXAMINATION NOVEMBER 2017.
' First Semester
Paper I - FINANCIAL ACCOUNTING - 1
(Revised)

Time : Three hours Maximum : 80 marks

Attempt all Sections according to internal choice.

Use of simple and programmable calculator is allowed.

SECTION A — (10 x 2 = 20 marks)

" 1. Answer any TEN of the following :

Wesar B39, U300 :

(a)

(b)

(c)

(d)

(e)

(8)

(h)

Mention the methods of piecemeal distribution of cash.
SRt 880 HITHOD 3&5@&1&36& (AlefeLblo}

What are the accounting balances recorded in the deficiency account?
0= oS avednie Benridn) 3,008 adadhd), SIpBReRnRIZTE?

What is the order (priority) of distribution of cash as and when cash
received?

0dre=-odosven R 20BTEY 03I BB INYS, DIV InBenrio)wo?

What is the net asset method of calculation of purchase consideration?
(‘\');gsﬁé esne 36&%&3&@8&06 z.ﬂdai)ﬁ.)nl F0BY HBOLLF)T 0BBeRO?

Pass the journal entry for settlement of purchase consideration paying by
shares, debentures and cash.

DOeD :b’a%dapi Beooneh, Bdosdonsh sann IR df«)ﬁde?ﬁ QRIS ZowoRLT Socee
ma)éﬁejaigl 230DD.

What are the types of single entry system?
2T JFRoed E:’dQ.Bo.i) 2,590 ado))?

State any two merits of single entry system.
»T T3 TBIab HTR> @dfaezsamejaigl WB0DY.

Write any two distinctions between partnership and joint venture business.

T dd n’oﬂ@ Hone 083 To=AINT qsdmdm} BRIAT Uedrn o8rd ;gsaaﬂs'ri%*ag
280D,
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(i) Who is Lessee/Tenant?
WlNNwad/ Meedmad Hond adxnvd?

() What is mining royalty?
red 0ozsE HoWTeRO?

(k) How is the minimum rent calculated in the event of strike?
R0F0 s SBwen T, woditodR), 0dRE Bed Ford SHRoHeRMFBO?

() Why the realisation account is prepared?
Sndegce wedoday, H353N 301500x3B?

SECTION B — (3 x 5 = 15 marks)
Answer any THREE of the following :
BUNTIIHNYI Weword Soe0, 6u3dAD

A, B and C were three partners who divided the profits and losses equally. On
the dissolution of their firm the Balance Sheet stood as under :

Liabilities Rs. Assets Rs.
A’s capital 45,000 Cash 37,500
B’s capital 7,500 Profit & Loss A/c 9,000
Reserve Fund 24,000 C’s capital 15,000
Realisation loss 15,000
76,500 76,500

C become insolvent. Calculate capital ratio of solvent partner. N

D, VIR A ToVWITTINR), oRgi-HANIRY FZowN BowBRN)FT. 33 R0% RBFROSN
Bt 2YNT03 VST VRS J3F VCLIW !

BTMOBI . egrieb .
‘'S wormY 45,000 M 37,500
‘DS 0B 7,500 ooy F03) W, 2003 9,000
soa3ty, IO 24,000 S woEmY 15,000
JRwES 0D Hod 15,000
76,500 76,500

‘3 TICVFITR méomnmmai. BePainna TeeEITUT WOBTY eabmsdaizt SO &HBOWD.

B A L ITNE M0 1 ot 44
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P, Q and R are partners sharing profits and losses in the ratio of 4 : 2 : 1
respectively. They decided to dissolved their firm whom their capital balances
stood as follows :

P-%60,000; Q-%32,000 and R-% 26,000

and reserve fund was ¥ 21,000.

Find out surplus capital.

P, Q 23 R a3d mmmdoaﬁmaﬁd. oy o) m&)oduabq oRTmeN 4 1 2 1 13
L3006, Fowsey Juad. 33 woBmednh o BYNS03mart ¥=0L 33 ToeVMOT 0% bRy,
DRBFAI IBEOART

P - 0. 60,000; Q-5dw. 32,000 33 R - 8. 26,000
=03 T20E, AR Bie. 21,000 QBOIT.

é&’buwb WOBI% TGO HBOWD.

Akash Co. Ltd. was formed to takeover the business of a partnership firm in
consideration of following :

(@) Toissue 2000, 12% Debentures of ¥ 100 each

(b) Toissue S000, equity shares of the face value of ¥ 100 each at a discount of
T 10 each (per share)

(c) To pay costs of ¥ 3,50,000

Compute purchase consideration.

& I u5an® FIDT WS Toewmdsd I’)o:u"oab aﬁégﬁmdd&& DOVERL "e3528° To. .3,

33003 :
[~]
(@) 2000, 12% &303ony a’bsoi/aociﬁa 8. 100 Bo3 Qer@o)wan

(b) 5000, BrbEs Becorivay Te. 1008 SneIaleodrt B3 BeBT Boeet T, 10 FBS
(00dman3) WK dedopymon : \

(c) . 3,50,000 SR B JeRoT)@oN

2E0 BT BB 1SR, F0BE> LBV,

Scanned by CamScanner



7094-A21-18C-R-N.17

2016 his astets oy
1 o 1 les ¢ r” item on ] ’ l ')‘()l "“d
Mr. Arun kept his books under single entry systen

liabilities are as follows :

4

Land 56,000
Machinery 37,000
Stock 45,000
Debtors 23,000
Bills Receivable 15,000
Cash 1,000
Creditors 21,000
Bank overdraft 4,000
Outstanding expenses 2,000

Ascertain the opening capital of the business.

Q. MBLNCITY 3&@ dﬁdd @gﬁwmq DF-T3ed aﬂdgaobcﬂm 'nw“daagd. 6. 1.1.2016 dotdr
&30 - BRAHMOTNRLY B FUNT08:S :

de.
A 56,000
RO 45,000
RO 23,000
Lo 1,000
AT 21,000
wWR05" LI wE, 4,000

F%Smdd e300PT 230(3;53%#:&:7.{')=L TR &LRODD,

Harish and Kotresh are in a Joint venture sh
respectively. Harish bought goods costin
Kotresh incurring expenses of ¥ 3,000. Ko
from his stock. Kotresh paid 7 2,000 for s
Kotresh is entitled to commission at 12%
3 2,50,000. The accounts were duly settled

aring profits and losses in 2 : 1
g ¥ 1,00,000 and sent the same to
tresh provide goods value of Z 48,000
torage and ¥ 1,000 for sales expenses.
on sales. He sold the entire goods for

Prepare Joint Venture Account in the books of Harish.
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- BOe ) Bt cd AB-5B a%ﬁmdd@p%. Ryl TR BoQob®) 2 : 1 Jdod BoUdRY e

2HBOBWIT. BOC dw. 1,00,000 ni¢g 3dﬁorieédgt PO B3,eB1 YL BRBITRT B3
o8 Bebbzen T, 3,000 DWFTYR) P03, dots e 3, 898903 de. 48,000 IPeT
ROBONYRY, Wiz, $.0t8e3™ oMY Domdmn da. 2,000 Hone Bae. 1,000 S5000¢3
3uFw), eBwD. 3ot4eBT IN0LE Joees Be. 12 I TR vEEd BRoBTIN. BT
Qe ROBNIR, de. 2,50,000 nent Sooaks SRBTYE. W3rida), FOIBELBET.

wot3 FoBR WD), IINR, BB DITEY.

Apeksha Publications, Hubballi, agreed to takeover printing and sale of a Book
from the author Smt. Ratna on a royalty of ¥ 10 per book printed and sold with
the minimur rent of ¥ 25,000 with power to recoup the short working during

next three years.
The books printed and sold during first five years are as follows :

Year No. of books printed and sold
2011 1000
2012 1500
2013 3000
2014 4500
2015 2500

Prepare Royalty payable chart.
dedd 8ez>3 Tz WS00B F3F I Inoots SeEo WLIOWE, VB BTBT I3

WABROBBY, T3 PFT BB - INTekE SoedS de. 10 dod OazRne0d SedTOR I,
woBr womh JIREY, Tp. 25,000 SARFTEe0dN BN BATZ0HRY Bwodd Bovedd

IRFNYS TRed INEOS 9T BR0BTLIE :
B0 0B SRENYIF DTN 000 8 Forte SpUE3 T FINT08T

IRE S0 Fore Ieoets SPRB
D3N Fodned
2011 1000
2012 1500
2013 3000
2014 4500
2015 2500
c;azs,--:’5 Ségjob&% 303020.
5
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SECTION C — (3 x 15 = 45 marks)
Question No. 13 is compulsory. Answer any TWO of the remaining :
33 13 65’%01)33?1&12, , mﬁi@m’ﬁ)ﬁ%ﬂeﬂmwcmd DORY, eU3DD

Ganganna, Rajanna and Manjanna were partners in

losses in the ratio of 4 : 2 : 3. The following is the

decided to dissolve the firm :

Liabilities Rs.
Capitals : Ganganna 2,00,000
Rajanna 1,00,000
Manjanna 6,000
Creditors 20,000
Bills Payable 9,000
Profit & Loss A/c 45,000
3,80,000
The assets realised as follows :
3
Debtors 56,000
Stock 36,000
Furniture 5,000
Bills Receivable 10,000
Machinery 52,000
Buildings 1,16,000

- Assets
Cash
Debtors
Bills Receivable
Stock
Machinery
Furniture
Buildings

7094-A21-ISC-R-N-17

a firm sharing profits and
Balance Sheet when they

Rs.
15,000
80,000
15,000
50,000
60,000
10,000
_1,50,000
_3,80,000

All liabilities are paid at book value. Manjanna became insolvent.
Close the books of the firm according to Garner Vs. Murray decision.

ﬁom?a, OITEY 3080 mouzga 20T [eeMRDT T,,,’oﬂmod) mwmdoaﬁc’% B33 ey I3y
r\i:i&;a&i 4 :2: 3 33n0T), BoUBHN)TTO. ¥TTO sm& ,-u’0'-:3’1511);1’0‘:L DIABES I Loy

wobwon ¥SC BEed BT FINT03 :

BRBMOZALD o.

woReYrieh 1 rioriey, 2,00,000
Do%€), 1,00,000

B00%E), 6,000

Foloated 20,000
6.@&'36& Boolrieh 9,000
ooy S B, 93 45,000
3,80,000

e
Inad
[OMTTY
zodés& BooRnYd
ARELTNS)
o003 R, eHTT

. HeBRCITO R

#Qjﬁﬁ%’o

O.

15,000
80,000
15,000
50,000
60,000
10,000
1,50,000
3,80,000
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narids B dUhwod Bribeddan nons |

4
BOMBUC) 56,000
tRRE) 36,000
2B RCBTOR 5,000
2038, BI0BTIY) 10,000
0303 ,e280D 52,000
BeI@ridd 1,16,000

203 BATBMOENYRE), Soadidadod Bog InEeRH, BoomnRd Bpdadnhud,
muFof Vs, 23008, 930 Qe odngidy Hor ol Fyzeneh LB B3P0,

Arun, Apeksha and Akash carry on business in partnership sharing profits and

losses in the ratio of 4 : 2 : 2 on 31.12.2016. They agree to sell their business to
Angadi Co. Ltd., their position was as follows :

Liabilities Rs. Assets Rs.
Creditors 60,000 Cash 15,000
Bills Payable 30,000 Debtors 1,20,000
Capitals : Arun 1,50,000 Stock 1,10,000

Apeksha 1,12,000 Land and Building 1,65,000

Akash 98,000 Plant and Machinery 80,000

Reserves 50,000 Furniture 10,000
5,00,000 5,00,000

Angadi Co. Ltd. agreed to took over the assets as under :

4
Debtors 1,05,000
Land and Building 1,75,000
Furniture 5,000
Stock 90,000
Plant and Machinery 72,500
Goodwill 45,000

The company also to take over the Creditors and Bills Payable at ¥ 77,500.

The company paid 30,000 equity shares of T 12 each in fully paid and balance in
cash. The expenses of sales (realisation) is ¥ 4,000.

Prepare the necessary accounts in the books of the firm.
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oo, leg B0I) 8TT* meeLMedse K0% oIV, SB3BY, epg-®obd), 4 1 2 ;9
oROTIEY, Bowdedy Iwd. B. 31.12. 2016 dom> 3, sa;sadasab wori@d go. @ab;gan .
elebmlaleia ) écmmﬂ.mod ‘

30 FIF0T 2.3 B SN0 :

BRBMOT G, esyrie oe:
FrYolate ) 60,000 SN 15,000
A/ 30000 WOMI® 1,20,000
WOBZYNED 1 w30 1.50.000 2080 1,10,000

ST 1:12:000 28 & D 1,65,000
B355° 98,000 S & 20 80,000
QOCREVNE 50,000 2eBe3TT LN 10,000
5,00,000 _5,00,000
©ond Fo0. .83 esj’.gri%’as’gl B FJNT03d 3ﬂcbﬁJae{po zoai)é./aoad :
| 4
ROMRTT) 1,05,000
20F & D 1,75,000
CBLRCITT INYO 5,000
3080 90,000
& 8 20 72,500
3edraey 45,000

S0mR0d0 FANCH >3y LW, BoOBRYR), BA. 77,500 EHBBRY e 2:2300B3.

Bozd0dL Cw. 120 Svdddod FoFper Jeox=s8x@ 30,000 é’%ﬁ Bedonigh mone wod
eme?&sdab SN CRITY BB waW. 3 DT Do 8. 4,000 eshad.

,qorqod) DRIV, I T wa3ries), 3adnd0.

10. Rashmi kept her books under single entry system During the year ended
31.12.2016 her cash transactions were as under :

Receipts Rs. Payments Rs.

Opening balance 4,000 Wages 8,000
Fresh capital brought in cash 66,000~ Salaries 3,000
Cash Sales 5,500 General expenses 2,000
Received from Debtors 1,10,000 Rent 5,000
' Drawings 16,000

Paid to Creditors 1,41,000

Closing balances 10,500

8
e T Y N Yre——— =
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The assets and liabilities were as follows :

7094-A21-ISC-R-N-17

Assets and Liabilities :  1.1.2016 31.12.2016
b4 3
Capital 33,000 -
Creditors 13,000 12,000
Debtors 7,000 7,000
Stock 10,000 60,000
Buildings 20,000 20,000
Furniture 5,000 5,000

Depreciate the buildings and furniture by 10%.

Prepare Trading and Profit and Loss account and Balance Sheet for the year

ending 31.12.2016.

0%, 3%, 95, BTNV, 27 ¥ Sd3ahe, wicoed. 8. 31.12.20168, desteorod umo

St JBHTRL B FINT0SS :
Ae3.3ne 0.
s00yIT e, 4,000
BAIDIN WOB Y BRxnd 3ndd 30&(50@ 66.000
SRR S03 5,500
ROOMTDT BHWHR) 1,10,000
1,85,500

T e ) BABOIN S FUNTosS ;

T3 o,
gRdn 8,000
=moned) 3,000
FOBRF, Beridd 2,000
oo 5,000
R038, 3M308R0BRy 16 000
AN HBE, 1,41,000
033 S, 10,500

e3ivd D) BHBWOINL:  1.1.2016  31.12.2016
2 2
WOBRTY 33,000 -
O 13,000 12,000
OO 7,000 7,000
DOm0 10,000 60,000
SeyEried 20,000 20,000
sedpeagTeried 5,000 5,000

FEBENY o) aedpeszdnny Soed Be 108 335 3rioWd.

0. 31.12.20166& gRdeoBE03d ;wdmd 03 ey’
30370020.

Tone Rf&; 093 ) WEIS 3@60&35&3{
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d consigned them to

id T 3,000
for freight and insurance and drew on Naveen for ¥ 80,000- Naveen paid ¥
. ses
for storage and ¥ 4,000 for rent. The sales realised ¥ 2,40,000 and sales expen

of ¥ 6,000 paid by Naveen.

Sangamesh bought goods of the value Rs.1,50,000 an
Naveen to be sold on joint venture, profit being divided in 2 :

. issi the
The final payment is made by Naveen after deducting 15% commuission on

gross sales by bank draft.

Prepare the necessary accounts in the books of both the parties.

ontoe8 ¥SA T, 1,50,000 IRQT 30BN, 30080 2ot3 FOB FTIHICTH ST

ST BAT 2501 ST, B3I Geyi-HANYI 2 ¢ 1 Jod B0udAY,L WFRORRT. .
B3O B WK F3) IZomN dwe. 8,000 detdmed 03 IS 939 Boeed de. 80,000
BI0BOHTY, WEDTIT. TIET VSTV Agsone wemAreN Tue. 3,000 @arie wokrt Cue. 4,00061%L
BPLMIT. ¥3TO ABe ATTONYRY de. 2,40,000 ROt Soevets SPBHN. 3080 3700830 ;Sz.iu
de. 6,000 SR, BACTCIR AeBmB. BIET BIT FRBeTT BOIT, whd), B0 oed

3e. 15 s3oead® 30 evdd 3@3&.& uazsoas a@quddwa)ao:s’d dm&bm@aﬁ.

T FFTNYO, 03T edries) 303700,

[A)

Usha Ltd. Co. took a coal mine on a lease at a royalty of ¥ 4 per ton of coal raised
with minimum rent of ¥ 1,80,000 per annum, subject to the right of recoupment
of shortworking in the next three years. In the event of strike, minimum rent be
reduced proportionately to the period of strike.

The output during the five years was :

Year Output in Tons

2011 30000

2012 40000

2013 50000

2014 20000 (strike for 4 months)
2015 60000

Prepare the necessary accounts in the books of Usha Ltd. Co.

10
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ovp ©. B0. 2300 FIBeD Hedodrny hees LI00E, SEBZ]T. TR B8 T e, 4 God
=y, SO, wbrtedy 33 B3F, de. 1,80,000 YIE. B3 Iz oomRBod BB IF,
@OBAALT, Z0BT F0wtd IRETIVY. Foen Bnwm LBOETY, IFBINIY. IRV
SIFBY, 8&:‘%233&#0333\3( Babm:s’ciﬁaob BBt eLRwBITNS .

AT IR MIEF ol B AT -

I=E emaawdw (&@Lafe?,)

2011 30000

2012 40000

2013 50000

2014 20000 (4 3ong ?ma'g&d)
2015 60000

MW 9. Fo3VadS[3 @’éﬁd@n adéaﬁ’ mér{e}r&z{ 30020,

Case Study (compulsory) :

Madhu, Roopa and Sowmya were partners sharing profit and losses in the ratio
of4:2:2 The following is their Balance Sheet as on 31.12.2016:

Liabilities 4 Assets 4

Capitals : Madhu 40,000 Land and Building 90,000
Roopa 60,000 Furniture 50,000

Soumya 80,000 Debtors 40,000

Creditors 30,000 Stock 20,000
Bank Overdraft 10,000 Cash 10,000
Loan from Roopa 10,000 Profit & Loss A/c 20,000
2,30,000 2,30,000

It was decided to dissolve the firm. The assets realised as follows :

Date Land & Building Furniture Stock Debtors
4 4 T 3
31.1.2017 18,000 12,000 3,000 7,000
28.12.2017 19,500 10,000 5,500 9,000
31.3.2017 47,500 12,000 9,500 7,000
30.4.2017 38,000 8,000 8,000 6,000

(a) Prepare statement of surplus capital.
(b) Prepare a statement showing distribution of cash.

(c)  Write the order (priority) of distribution of cash as and when cash received.

11
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2,500 e¢6w§ (smacm ?u:,égg . :
R0, 08 ) WY FoLEIGTNRY, enrg-moRoR, 4 2 sty

B02380U 3090, ©R0 e B8 31.12.2016 doo 8% gAT03T |

BLAEBMOBRL on. esgried P
BN :
230 neo: oo 40,000 OFE&D 90,000
eVory 60,000 SeBRCRTO 50,000
SCS) 80,0000 ™OMID 40,000
FYG]ate V) 30,000 TR 20,000
z:mzso# LI @, 10,000 1a1n® 10,000
BAS BID0R O IEEBY, 10.000  °% IR o, 003 20,000
2,30,000 2,30,000
TPEOTRTT 33 0B o), IRBELTT. BRE0 SR0B0E o SAF0S Bed BowRODETING !
D203 oF & B sedpels0e  BORRTY T2OMTTY
4 Z T 4
31.1.2017 18,000 12,000 3,000 7,000
28.12.2017 19,500 10,000 5,500 9,000
31.3.2017 47,500 12,000 9,500 7,000
30.4.2017 38,000 8,000 8,000 6,000

(a) éz&)udb 200B@=0¢ TEIOBY, 30352020.
(b) s> Sowdod Be3 00, 303DV
(c) odz- admen SR> WoRBRY, Bowd SRR B3R, WI0D.

12
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B.Com. DEGREE EXAMINATION NOVEMBER 2017. {

First Semester

Paper 1.4 - PRINCIPLES OF MANAGEMENT

(Revised)

Time : Three hours

Maximum : 80 marks

Answer ALL questions subject to internal choice.

Question No. 13 is compulsory.

SECTION A - (10 x 2 = 20 marks)

1. Answer any TEN of the following :
3INTINYS Wezer B3Y, L3020

()

(b)

(c)

(d)

(e)

(h)

What is Scientific Management?

%m@&ﬁ :‘%sdmasaf 0TBe0O?

What do you mean by Financial Planning?

D050 030058 d0TTeRO?

What is Time Study?
33003 30T D0WTERO?

What is Scalar Chain?
Beedeg3 050 303 0BTEO?

Write the meaning of ‘Span of Control’.
00303, T 0d WFE 2T

Define the term ‘Departmentation’.
yNesons m; ARD.

What are ‘Planning Premises’?
o3newtodd) ekesten HoEdesd?

’

Give the meaning of ‘Supervision’.
;’pc@amds—v" ¥E3 e 3RO, .

-
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(i  What is Upward communication?
Soeen BoTBF-zoresd Fow0s Q0BT ERO?

() Define ‘Morale’.
5,38 3 j0dord 9.ad 280800,

(k) What is meant by ‘Recruitment’
.'-bzouoa P3F 0TTeTO?

() Expand the following :
FINBHNIBY, D302 w0 :

() MBO
(i) ZBB

SECTION B - (3 x 5 = 15 marks)

Answer any THREE of the following :
YNNIV Wewor SoeTY, 6u3dAD :

What is Top Level Management? What are its functions.
Soeid FBTT aoddedd? ©Tv soobrned adeHR)?

Distinguish between Formal and Informal Organisation.
B3w5007 33 8TPD50T R0 NN SBIIT ©wo3onYR) wT0D.

Bring out and explain the various techniques of Decision Making.

QEF 0VRDFTOD AP 30%!1‘33&‘)*3@2», D30

Define co-ordination and describe its features.

A0 o308 TR, Tk, VBT SFERYR), IF0D.

Explain Maslow’s Theory of Motivation.
SRR BT ool AT0ITT)Y IO

Briefly explain any five objectives of Management.

agsai.u—aeﬁamb 03RR)TWOR 2RO emqacériem%l A3,
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11.

12.

13.

7101-A51-ISC-R-N-17

SECTION C - (3 x 15 = 45 marks)

Answer any THREE questions including Question No. 13 is compulsory :
Wezan Soetd I3 ev3ddd. 138 33 smod
o > 72" Ta

Define Management and describe aﬁy seven principles of Management.

ISR SR3 TR, VTT 0dRF)TarTR D¢ B3I, JedF2D.

Explain the steps involved in the process of planning.

AdReEm To0FE AP a‘oéﬁ%?aiiadmﬁ.

What is communication? Explain any six barriers to communication.

RoTTE-F0Be3 Rordvmad 2, Bty), BTT 0dRF)HEte BT VEIBNYR), DIDWD.

Define Organisation and bring out its importance.

Rozredsody mzsa% BPRED ), VBT m;ma)ﬁéo.bdi 3920.

Examine the essentials of Effective Control System.

S0:30500 Q0030 %3%@ emséﬁsrwag 38@&?@.

Case Study (Compulsory) :
S70n ¥g b (FEod) :

Bajaj Company Ltd. has invited applications to fill 100 clerical posts. As an HR
Manager, what steps do you follow in selecting the right candidates?

wesetst S0z 100 FF°F BOBH vaSrnvat) v, IS FBRAE wEdIBA de
ainz afns Bodreay, YBR0: odeer BBV PaF IPBD?
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